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M II=sX3A L
M Soi0i7
&l sgHEE2d (el &)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
wmols4a ATZSZH 7 700,000& »2CH 1,400
SFAFMAEZ 162,912 189,260 226,348
101 el 86,215 100,640 A 14,425
04 JI2tHIZ2E2NEE S 86,215 100,640 A14,425
m=xstFHA L STAIL 2 52,206
oLy 33,0003 10 120 39,600
oOR=s5Z=+H 33,000 10 20 6,600
o4 2 EE 46,200,000& *13% 6,006
WAIJHRI 22 X4 7,831
oY 33,0003 x6EH «30 5,940
O A=l | 33,0003 x6H x5 990
o4l REE 6,930,000 *13% 901
mL-XZEE 22 26,178
(@I 2=l 33,0002 x6ZH x100 19,800
OREsgsg 33,0003 x6H «17L 3,366
o404 2R EH 23,166,000 *13% 3,012
201 B3| 22,850 24,800 21,950
01 AtE22|Hl 12,000 14,000 A2,000
CIR=pNg= 12,000,000& 12,000
02 22234l 10,850 10,800 50
WAl & EH| = X dl 10,850, 000& 10,850
206 M=l 53,847 53,820 27
01 M=H| 53,847 53,820 27
WESF MA(EX ME, =)
600, 000& 15532/ 27,000
WEXEE 2e(BX,2F, sAHH)
1,500,000& x158 22,500
m=3ol*A REAY 1,449 +3,000 £ *13] 4,347
IIEE=N 209,733 183,765 25,968
101 21 H| 78,533 77,415 1,118
04 JItHIZ2E2NEE S 78,533 77,415 1,118
mOt=S=3t Moz, ZSHE L dAEHI 78,533
(Ol =l 33,0003 x99 100 <23 59,400
O =gl 33,0003 x9H » 17 »23] 10,098
o4 2 EE 69,498,000 * 13% 9,035
201 Y2 Y| 41,300 41,350 A50
01 AFR 22| 33,300 41,350 28,050
w2 et~ Z | 15,500, 000& 15,500
WYX= 17,800,000& 17,800
02 =234l 8,000 0 8,000
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CJl=XE
e Ko, ]

- oSueEC

=P

—_ = o

SN CR(EH) - NRAY - BES

22
J2

20
B
2

mE22= 2 HA 5,000, 000& 5,000
WAl & ZHIK XL 3,000,000& 3,000
202 Oddl 1,000 1,000 0
01 WY 1,000 1,000 0
WIS BEX SV A 1,000, 0002 1,000
206 M=l 74,500 50,000 24,500
01 M=Hl 74,500 50,000 24,500
OIS RS SXHH (S, A, HIE) 79
5,0002! #45 *500% 10,000
OIS RS SXH (32, NFH S) 7
2,000& x5&+1,0004 10,000
WIISREXE JIS2, 23 S 7Y
2,000& %10,000= 20,000
OIS RER MAF T8 WE 2
5,000 »4Z+5004 10,000
m=3&E MAHAME 2 20,0003 x5 *304 3,000
WHHELKE 5% 7Y 50008 +5F+100% 2,500
WHAZL HFALTH 7Y
20,000 *4Z 1004 8,000
WERSHHAE THS I PY(RNES)
50,0002 %105+ 1074 5,000
OIS RER MAREE ME
1,000, 000& *6 4 6,000
301 et as 14,400 14,000 400
10 BAAHIR A3 14,400 14,000 400
WIS REH FAIDS HOSH A
300,000& «20H Xl 6,000
OIS RER URASAK, FHAY 24
7,000& x120 * 10 8,400
ptetsxd 155,000 30,000 125,000
401 Al&HIQLTHY| 155,000 30,000 125,000
01 Al&H| 155,000 30,000 125,000
Eselge DRAHBY T4
15,000, 000& «37H 2~ 45,000
msHHER =HNELH Wi 50,000,000& 50,000
mAlF YA JIEtEH 60,000,000& 60,000
HetESI =S8 ML 14,222 14,222 0
= 7,11
Al 7,11
101 1A 4] 14,222 14,222 0
= 7,11
Al 7,11
04 JIZHMIZ2XHsSE =+ 14,222 14,222 0




FAM: Jl=X3n
HH: soiolin
el sggE=d (el =@
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
mustd =)l SEMUAUHAREEEE)
14,222 ,000& 14,222
= 7,111
Al 7,111
ANEALR 144,985 186,114 A41,129
= 11,000
Al 133,985
NS+ 60,857 95,557 A34,700
101 Q14| 42,959 69,674 A26,715
04 JIZHMIZZ2XESE =+ 42,959 69,674 A26,715
mASAIEZE 2 42,959
(©FelE = 33,000 x8Z 60 »23] 31,680
ORsSsgE 33,0003 x8H x12 +23| 6,336
o404 2R=EE 38,016,000 *13% 4,943
206 M=l 17,898 15,116 2,782
01 MHZ bl 17,898 15,116 2,782
WASABEY EX L 22 7Y
30,0003 x50& *23] 3,000
mMASAEZE s 7
500,000& 105 *23l 10,000
oA X & 200, 000& x5&+23] 2,000
mo2R FFRU(ER) 1,4493 1,000 £ 23| 2,898
dEtdsgaea 2,000 3,000 A 1,000
206 M=l 2,000 1,000 1,000
01 M=H| 2,000 1,000 1,000
WASASABRIM ZAIIT L A 2
100, 000& *10& 23] 2,000
HXEAZSASAIE 60,128 76,757 A 16,629
101 el 10,740 15,483 N4T743
04 JItHIZ2E2ENEE S 10,740 15,483 AN4T743
mUHIAASASAIE 29 10,740
oelRy 33,0003 x2& 60 *22] 7,920
oORsS5L=+H 33,0003 x2& 122 #23] 1,584
o4 REE 9,504,000 *13% 1,236
201 Let2d| 4,000 7,000 23,000
02 =234l 4,000 4,000 0
WAl ZHIK XL 4,000,000& 4,000
206 M=l 35,388 36,274 A\ 886
01 M=l 35,388 36,274 A 886
mOlEUAES @Y (=) 1,000,000 45 4,000
mzZESE 2 s 2 2,000, 000& x5& 10,000
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Rk
X XH -
S Tt [ = R ui
Sl

Jl=X &
=i
ANEHR

S .S (FH) - HEAIY - B2 A} OH &EIE H m=2
BN B O - HSAY - B2 Sh Of] &F o8 e
WOIEHAE RFU(ZR)
1,44921%3,000 £ 45 17,388
W RAAE RHPY 1,000, 000! x4 4,000
405 Xtaks S| 10,000 2,000
01 XAtUSEFSH 10,000 2,000
WOIZHRE] SZI| 2 5,000,0008 =204 10,000
nER= R ESIESNETGIEIN 22,000 22,000
11,000
11,000
201 Lure | 6,500 6,500
3,250
3,250
01 AFR21H| 4,500 4,500
WU SH(ESZFA 24)  1,000,0008 1,000
500
500
MUABSEH (AD|E ASAE HPEE)
,500,0008! 2,500
1,250
1,250
WSFH(ELATA 2 1,000,000 1,000
= 500
Al 500
02 232 2,000 2,000
WAL FHHISXH(ELE I FH RX+4)
2,000,000 2,000
= 1,000
Al 1,000
202 01| 3,000 3,000
= 1,500
Al 1,500
01 2U01b| 3,000 3,000
WELATA 2 3,000,000 3,000
1,500
1,500
206 M2t 10,500 10,500
5,250
5,250
01 MEHl 10,500 10,500
WELATA 2 3,000,0008 3,000
1,500
1,500
WAD|E ASAE HEs 7,500,0008! 7,500
3,750
3,750
405 RtabE S| 2,000 2,000




S OIEXH D
HH: soioliq

== Jyuil

S EETE (el a9
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i HIRE
= 1,000
Al 1,000
01 MR ESF=H 2,000 0 2,000
mEXAFA 2HEH F 2,000,000& 2,000
= 1,000
Al 1,000
SSMSHE 195,799 95,574 100,225
sSEMSEAHEINY 68,000 29,000 39,000
201 L&l 1,000 0 1,000
01 AtR 22/t 1,000 0 1,000
w2 Bt~ Z H| 1,000,000& 1,000
206 M=l 4,000 4,000 0
01 M=zl 4,000 4,000 0
mM=SASNHE AEMHE P (ZXIT2LAI)
200,000& 205 4,000
207 A0 47,000 0 47,000
01 A& 15,000 0 15,000
m=2Il= HEUM AFRES 15,000,000& 15,000
03 A&l H] 32,000 0 32,000
Wse0IS HL DA ABAT IR
32,000,000 210+ Kl *50% 32,000
405 XtobE SHI 16,000 25,000 /9,000
01 ML ESSF=H 16,000 25,000 29,000
=D, ol + 8,000, 000& x2& 16,000
A SAEAIE 2 41,976 45,332 A3,356
101 el 24l 20,435 20,558 A123
04 JIZHMIZE2XESE = 20,435 20,558 A 123
WAIE@A 24, ASANSEY 2Y 20,435
(ORIE 33,0003 x4 & 60 23] 15,840
oR3FY+Y 33,0002 +42 172 2,044
o4l REE 18,084,000 *13% 2,351
201 EHRHH| 3,000 3,000 0
02 2323l 3,000 2,000 1,000
LINRE=Fd=[E=IN:] 3,000,000& 3,000
206 M=l 18,541 21,774 N3,233
01 M=Hl 18,541 21,774 N3,233
WCHS, Ol4s, ATiE Az
500,000& 23| x5 5,000
meMASEY 29 250,000 %23] 500
mFol=2s R 1,449 +3,000 £ *32] 13,041
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S OIEXH D
HH: soolq

ool =SaEH (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o B2
nEESIEINFET- 37,823 21,242 16,581
101 o124yl 9,323 7,742 1,581
04 JARZRIIS S 9,323 7,742 1,581
WA S, =524 2 9,323
CLIE} 33, 00021 +22 ¥552 %23 7,260
oORzELLY 33,0002 x2 152 990
04t o228 8,250, 0002 *13% 1,073
201 Yer2g| 1,000 1,000 0
02 T2 1,000 1,000 0
CNPEETIES 1,000,0002 1,000
206 T2 7,500 12,500 5,000
01 HEbl 17,500 12,500 5,000
WAL Al EXIIR AENE 2
2,000, 0002 23] 4,000
WA BHX, SETHE 7Y
350,00021 +10% 3,500
WA AR ZA 22 H27
500,0002 *5 % *43] 10,000
207 HPIHLEI 5,000 0 5,000
NIEEEETT 5,000 0 5,000
WXAR A Y =@ AP 5,000,008 5,000
401 Al&HIL 20| 5,000 0 5,000
01 Al&H] 5,000 0 5,000
WEIZEB AL 5,000, 0002 5,000
29| 5= 48,000 0 48,000
201 Ygreg| 2,000 0 2,000
01 AtR2elt| 2,000 0 2,000
CEEIES=Y] 2,000, 0002 2,000
207 HPIHLEI 40,000 0 40,000
01 eimE Y| 35,000 0 35,000
WU S ABEADE U MSI| O
=89 35,000,0002 35,000
03 Algiei | 5,000 0 5,000
WZEAIS 20| W2, AL2 200,000 x20H € 4,000
MAEHEAL 22l ASET 200,002 *5% 1,000
301 YBrEAZ 1,000 0 1,000
10 BAAHIE A2 1,000 0 1,000
Wyl =¥ T/FY Bols ¥ st
50, 00021 +52 ¥4 3] 1,000
405 THAHE S 5,000 0 5,000
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A JI=X3 L

HH: soolq
el SS A2

SN C(BH) - NRAY - HES Aro Bl 2
Ol &k
01 XL SSFSHI 5,000 0 5,000
mat2stsdx 4 5,000,000 5,000
HE2IHH (IJ=X2 1) 251,904 243,452 8,452
ol 2HH| 149,055 146, 146 2,909
ol 2ZH| 149,055 146, 146 2,909
101 14| 143,655 140,746 2,909
03 RIHAZZ2NHE > 143,655 140,746 2,909
ms)lH2el ¥ sHHLH AId222LE 63,267
QJIE= 42,0003 x252 x3H 31,752
oO&N3 42,0002 #2522 x4/ 12+3H 10,584
Of&EZRsE 7,880& *x20A| 2tx 128 »3H 5,674
OR=E5gsg 42,0003 52 »3H 6,552
O XseFII==Y 42,0003 17 »3H 2,142
Of=t= W FNE= 42,0003 #2522 *10%*2 Y 2,117
OgESItyl 42,0002 #2522 x1/12+3H 2,646
O=4 2 &H| 50,0003 122 x3H 1,800
W=sAHER 222 80,388
OJl2= 33,0003 2522 x5H 41,580
(OFJOCE=, 33,0003 #2522 x4/ 12x5H 13,860
oEzRSg 6, 1903 x20A| 2tx 12 +5H 7,428
OF =gl 33,0003 52 x5H 8,580
(OFSPNESI=E = e = 33,0003 152 x5H 2,475
OZFE S JtH| 33,0003 #2522 x1/12x56H 3,465
O=4a 22| 50,0003 x12& x5H 3,000
203 HERF&| 4,200 4,200 0
04 EARISRFEHI 4,200 4,200 0
w2 M2 (30010]6t) 350,000& x12& 4,200
204 XA 1,200 1,200 0
01 g PR FH| 1,200 1,200 0
W& (52 BX0|&) 100,000& 1& «12& 1,200
Jl23| 102,849 97,306 5,543
Jl2Z | 102,849 97,306 5,543
201 Y2 Y| 36,729 34,978 1,751
01 AR 22| 36,009 34,258 1,751
(w] Bt~ Z H| 15,709,000& 15,709
(w] = 2| 20,300, 000& 20,300
02 =234l 720 720 0
W23 % MA 720,000& 720
202 O4H| 66,120 62,328 3,792
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A Jl=Xa
M HAESAAH|(J&XD)
e J|=2A|
] } MEc
SN EH .09 (3) - NEAY - BAS 0] &b o4 O & 04
66,120 62,328
66,120

01 =LA
bS| 2,280,000& 29

EOI=X2N HRFA
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